INDIAN SCHOOL MUSCAT — MIDDLE SECTION — SUMMATIVE ASSESSMENT : 01 ( 2016 - 17)

\ \, | CLASS:S5 SUB: MATHEMATICS DATE: 18.09.2016 TIME: 2 HRS R
MA:)_(“MARKS: 60 INSTRUCTIONS: ANSWER ALL THE QUESTIONS ON SEPARATE ANSWER SHEET
Q.NO:01

S.NO MCQ (‘1" MARK EACH)

(a) | Roman numeralfor(20+30) is____  a)LX b) VX c)L d) XL

(b) |0+ 23= a) not possible b) 23 c)o d) 230

(c) | The number divisible by 2 is = a) 183 b) 318 c) 813 d) 381

(d) Improper fraction for 1% is__ a) 2 b) g c) % d) %

The numeral for three lakh forty is

(e) | a)3,00,040 b) 3,04,000 c) 3,40, 000 d) 3,00,400
S.NO FILL IN THE BLANKS (‘1 MARK EACH)

(f) | 845 rounded off to the nearest 10 is

(@ The lowest form of % is =

(h) | HCFof 3and4is

(i) | The place value of 3 in 67352 is

(j) | The prime number comes just after 25is =

S.NO WRITE TRUE OR FALSE (‘1 MARK EACH)

(k) | Predecessor of 7890 is 7889

(1 48 ~ 3 =16, dividend is 16

(m) | The composite number that comes just before 10 is 9.

(n) | Side of a notebook is an example for a ray.
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S.NO Q.NO. 2’ TO ‘13’ (2’ MARK EACH)
2 Arrange the following numbers in ascending order : 98427 97482 97824 98742
3 Werite the greatest and the least 5- digit numbers using the digits 3,2,5,0, 9 only once.
4 Arrange and add the following numbers : 45689 , 3158 , 7264301
5 | Subtract 42179 from 630000
6 | Draw the factor tree of 72.
7 Reduce % to it’s lowest form.
8 Find the HCF of 36, 28 using division method
9 Find the product of 8279 and 56.
10 Write 4 equivalent fractions of >
11 | Divide 3876 by 24.Write the quotient and remainder.
12 | Identify the type of the angle for the following angles. a) 54° b) 180° c) 90° d) 360°
13 | Check if 736 is divisible by 4 using the appropriate divisibility rule.
S.NO Q.NO. 14’ TO 20’ (‘3’ MARK EACH)
14 | Insert commas and express 4231785 in words in both the Indian and international systems.
Jeet bought a T.V for Rs. 79845, a music system for Rs.45680, a juicer for Rs.9700.How much money
15 | did he spentinall?
16 | By how muchis 73,869 is more than the 67,2342 .
17 | Find LCM of 21, 14, 42 using division method.
18 Arrange the following fractions in descending order : % 5 %
19 | A factory manufactures 578 bulbs per day . How many bulbs will be manufactured in 25 days?
20 | Draw an /ABC = 120° with the help of a protractor. Name its vertex and arms.




